A word is represented by only one set of numbers as given in
any one of the alternatives. The sets of numbers given in the
alternatives are represented by two classes of alphabets as in
two matrixes given below. The column and rows of matrix I are
numbered from 0 to 4 and the column and rows of matrix Il are
numbered from 5 to 9. A letter from these matrixes can be
represented first by its row and next by its column. 'O’ can be
represented by 30, 23,etc. and 'D' can be represented by

76,88, etc. identify the set for the word 'POND".

Matrix-I Matrix-II
011121314 516|7]819
OIPIGIHILI!|O 5/N|T|D|S|U
1/LIOI/P|G|H 6|S|U|N|T|D
2IGIHIL|O|P 7/T|D|S |U|N
3/0/P|G|HI|L |UIN|T|D|S
4/HIL|IOIPI|G 9ID|S|U|N|T

(a) 00, 04, 67, 57 (b) 23, 12, 86, 69
(c) 43, 24,98, 95 (d) 30, 42, 55, 87

A word is represented by only one set of numbers as given in
any one of the alternatives. The sets of numbers given in the
alternatives are represented by two classes of alphabets as in
two matrixes given below. The column and rows of matrix I are
numbered from 0 to 4 and the column and rows of matrix Il are
numbered from 5 to 9. A letter from these matrixes can be
represented first by its row and next by its column. 'P' can be
represented by 32, 44, etc. and 'U' can be represented by 76, 88,
etc. identify the set for the word 'PALE'".

Matrix-I Matrix-II
0(1(2(3]|4 516789
O/R|{P|S|T A 5/|LIE|U|G|]
1{I |[A|R|P|S 6|/G|] |[L|E|U
2/P|{S|I |AIR 7/E|JU|G|] |L
3/A|R|P|S|I 8|/J] |[LIE|U|G
4|!S|I |[A|R|P 9/U|G|] |LJE




(a) 43, 23, 55, 56 (b) 33, 30, 67, 75
(c) 11, 42, 86, 98 (d) 20, 04, 79, 87

A word is represented by only one set of numbers as given in
any one of the alternatives. The sets of numbers given in the
alternatives are represented by two classes of alphabets as in
two matrixes given below. The column and rows of matrix I are
numbered from 0 to 4 and the column and rows of matrix Il are
numbered from 5 to 9. A letter from these matrixes can be
represented first by its row and next by its column.'0O' can be
represented by 34, 41,etc. and 'T' can be represented by

59,97 etc. identify the set for the word ' STRAW .

Matrix-I Matrix-II
0|12 |3 |4 56171819
0/S |[R|G|H|W SIAIFILICIT
1/H W|S |[R |G 6ICITIAIFI|L
2/R |G |H|W|S 7ZIFILICITIA
3|W|S |R |G |H S8ITIAIFILIC
4/G |H|W|S |R 9|/LICITIAIF

(a) 00, 78, 13, 67, 23 (b) 12, 59, 01, 55, 10
(c) 24,97, 20, 86, 31 (d) 43, 66, 44, 98, 43



A word is represented by only one set of numbers as given in
any one of the alternatives. The sets of numbers given in the
alternatives are represented by two classes of alphabets as in
two matrixes given below. The column and rows of matrix I are
numbered from 0 to 4 and the column and rows of matrix I are
numbered from 5 to 9. A letter from these matrixes can be
represented first by its row and next by its column.'F' can be
represented by 03, 34, etc. and 'A' can be represented by
31,43,etc. identify the set for the word 'RATES'.

Matrix-I Matrix-II
0/1]2(3]4 516171819
O/A|G|R|F|E S5ITIPIUISI|O
1 FIE|A|G|R 6ISIOITIPI|U
2/GIR|F|E|A 7ZIPIUISIOIT
3|E|A|G|R|F 8IOITIPlUIS
4|/R|F|E|A|G 9/UISIOI|TIP

(a) 33, 00, 98, 30, 88 (b) 14, 43, 55, 11, 68
(c) 21, 24, 86, 42,56 (d) 02, 12, 67, 04, 96



In the question a word is represented by only one set of
numbers as given in any of the alternatives. The set of numbers
given in the alternatives are represented by two class of
alphabets as in two matrices given below. The columns and row
of Marix I are numbered from 0 to 4 and that of Matrix Il are
numbered from 5 to 9. A letter from this matrices can be
represented first by its Row and next by its column. For example
'k’ can be written as 40,24 etc and ‘Z’ can be represented as
98,67 etc. You have to identify the set for ‘OXEN’.

Matrix-I Matrix-II
012 |34 516171819
0/G|B|I [K|C 5/Z|IXISIRIT
1 LIHH|H|G 6lO0INIZIPIT
2/L{H|I |A|K 7/U|R[Q|Z|W
3/A|D|M|G|B 8|VIQ|X|Y|V
4|K|J] |[E|LF 9/Y|O|X|Z|N

(a) 65,97,42,99 (b) 21,33,58,67
(c) 44,44,55,58 (d) 14,34,55,66



A word is represented by only one set of numbers as given in
any one of the alternatives. The sets of numbers given in the
alternatives are represented by two classes of alphabets as in
two matrixes given below. The column and rows of matrix I are
numbered from 0 to 4 and the column and rows of matrix Il are
numbered from 5 to 9. A letter from these matrixes can be
represented first by its row and next by its column.'K' can be
represented by 14, 03, etc. and 'Z’' can be represented by
58,69,etc. identify the set for the word ' FUEL .

Matrix-I Matrix-II

0(1(2|3 |4 516171819
0/I |[C|L K] 5|U|N|[Z|Z]|S
1/¢jJ I 1K 6(S |O|T|T|Z
2/H/F|E|T |A 7ZIWITIVIVIO
3|F|I |L|H|B 8V IYIYI|Y!|P
4/D|G|G|B|D 9T IRIZIZIO

(a) 21,55,22,02 (b) 56,12,87,22
(c) 23,45,12,22 (d) 11,02,32,65

A word is represented by only one set of numbers as given in any one of the
alternatives. The sets of numbers given in the alternatives are represented by two
classes of alphabets as shown in the given two matrices. The colums and rows of
Matrix-I are numbered from 0 to 4 and that of Matrix-II are numbered from 5 to 9. A
letter from these matrices can be represented first by its row and next by its column,
for example, ‘D’ can be represented by 68, 95, etc., and ‘P’ can be represented by 75,
97, etc. Similarly, you have to identify the set for the word “BAND”.

Matrix-I Matrix-II

0/1|12|3 |4 516171819
0O B|[C|K|IN|S S5IAIOITIPID
1/K|B|S|C|N 6l TIPIAIDIO
2/C|S|N|B|K 7ZIPIDIOITI|A
3IN|K|B|S |C S8IOITIDIAIP
4|/S|N|C|K|B 9IDIAIPIOIT




(a) 23,76, 22,77 (b) 11, 67, 40, 95
(c) 00, 55, 03, 59 (d) 44, 89, 30, 87

A word is represented by only one set of numbers as given in
any one of the alternatives. The sets of numbers given in the
alternatives are represented by two classes of alphabets as in
two matrixes given below. The column and rows of matrix I are
numbered from 0 to 4 and the column and rows of matrix Il are
numbered from 5 to 9. A letter from these matrixes can be
represented first by its row and next by its columns 'A' can be
represented by 20, 43,etc. and 'U' can be represented by

68,87, etc. identify the set for the word ' GUIDE .

Matrix-I Matrix-II
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(a) 00, 68, 95, 58, 04 (b) 14, 75, 88, 87, 40
(c) 23,99, 76,78, 31 (d) 41, 87, 57, 66, 12



A word is represented by only one set of numbers as given in
any one of the alternatives. The sets of numbers given in the
alternatives are represented by two classes of alphabets as in
two matrixes given below. The column and rows of matrix I are
numbered from 0 to 4 and the column and rows of matrix Il are
numbered from 5 to 9. A letter from these matrixes can be
represented first by its row and next by its columns 'K' can be
represented by 33, 43,etc. and 'Z' can be represented by

65,59 etc. identify the set for the word ' SIZE".

Matrix-I Matrix-II

0|1 (2|34 516171819
O/EIM|E |] |H 5|U|V|U|V|Z
1/I |H|F |G|A 61 Z1O0IXI|SI|P
2/E{H|D |A|I 7ZIPIPIR|IVIN
3/C|B|M|K|L 8/Q|S|IN[S|W
4|/F|L |G |K|D 9/SIXITINIS

(a) 34,32,98,77 (b) 42,00,99,77
(c) 03,44,67,77 (d) 95,24,59,20



A word is represented by only one set of numbers as given

in any one of the alternatives. The sets of numbers given in the
alternatives are represented by two classes of alphabets as in

two matrixes given below. The column and rows of matrix I are
numbered from 0 to 4 and the column and rows of matrix Il are
numbered from 5 to 9. A letter from these matrixes can be
represented first by its row and next by its columns 'K' can be
represented by 10, 31,etc. and 'M' can be represented by 76,87, etc.
Similarly, you have to identify the set for the word “SCAM”.

Matrix-I Matrix-II
012|334 51671819
0|S|P|KIN|C 5/1 |[R|A|] |M
1/K|S|C|P|N 6|/A|] |1 |[M|R
2/P|CIN|[S K 71] IM|R |A|I
3IN|K|S|C]|P 8/R|A|M|I |]
4|C|N|P|K|S 9/M|I |J] |[R|A

(a) 00,13, 57,76 (b) 11, 04, 86, 59
(c) 23,22, 99, 95 (d) 32, 40, 66, 68

A word is represented by only one set of numbers as given

in any one of the alternatives. The sets of numbers given in the
alternatives are represented by two classes of alphabets as in
two matrixes given below. The column and rows of matrix I are
numbered from 0 to 4 and the column and rows of matrix Il are
numbered from 5 to 9. A letter from these matrixes can be
represented first by its row and next by its column. 'X' can be
represented by 21,44 etc. and 'R’ can be represented by 67,98
etc. identify the set for the word 'CREEP".

Matrix-I Matrix-II
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(a) 10, 79, 23, 32, 42 (b) 24, 55, 14, 41, 12
(c) 33, 86,32, 13, 43 (d) 42, 98, 41, 00, 34

A word is represented by only one set of numbers as given

in any one of the alternatives. The sets of numbers given in the
alternatives are represented by two classes of alphabets as in
two matrixes given below. The column and rows of matrix I are
numbered from 0 to 4 and the column and rows of matrix Il are
numbered from 5 to 9. A letter from these matrixes can be
represented first by its row and next by its columns 'P' can be
represented by 02, 10,etc. and 'G' can be represented

by 66,98,etc. Similarly, you have to identify the set for the word

Matrix-I Matrix-II
0/1(2]31|4 56171819
O|I |T|P|R|U 5/GIAILIHIS
1/P|R|U|IT [T 6 HIGIS I|AIL
2|T|I |[R|U|P 7IAILIGIS |H
3IRIU|[T|P ]I 8ISIHIAILIG
4 /0 |P|I |T|R 9/LISIHIGIA

(a) 01, 03, 75, 00, 68 (b) 14, 30, 68, 13, 58
(c) 20, 44,99, 21,96 (d) 43, 11, 56, 34, 88



A word is represented by only one set of numbers as given

in any one of the alternatives. The sets of numbers given in the
alternatives are represented by two classes of alphabets as in
two matrixes given below. The column and rows of matrix I are
numbered from 0 to 4 and the column and rows of matrix Il are
numbered from 5 to 9. A letter from these matrixes can be
represented first by its row and next by its columns 'L' can be
represented by 22,43 etc. and 'K' can be represented by

75,97 ,etc. Similarly, you have to identify the set for the word

Matrix-I Matrix-II

0|1/2[3|4 5(6171819
O|C|L|A|Z|R 5/SIKITIPI|V
1 A|/Z|C|R|L 6 TISIVIKIP
2|Z|R|L|A|C 7ZIKIVIPISI|T
3/LIA|R|C|Z 8IPITIS|VIK
4 |R|C|Z|L[A 9|VIPIKITIS

(a) 69, 02, 12, 65 (b) 58, 23, 24, 76
(c) 77,31, 34, 68 (d) 96, 44, 41,97

A word is represented by only one set of numbers as given

in any one of the alternatives. The sets of numbers given in the
alternatives are represented by two classes of alphabets as in
two matrixes given below. The column and rows of matrix I are
numbered from 0 to 4 and the column and rows of matrix I are
numbered from 5 to 9. A letter from these matrixes can be
represented first by its row and next by its columns 'R’ can be
represented by 23,31, etc. and 'O’ can be represented by 75,98,
etc. Similarly, you have to identify the set for the word “TRAY".
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Matrix-I Matrix-II

01123 |4 516171819
O|T|Z|Y|B|R S5IAIO|UI|E!|I
1Y B|R|T|Z 6lUIEIT |AlO
2|2 | T|B|R|Y 7ZI0/AIEI|TI |U
3/B|R|Z|Y|T S8IEII lOIUIA
4 |R|Y|T|Z|B 91 |lUIAIOI|E




(a) 00, 04, 68, 02 (b) 21, 41, 97, 41
(c) 34,12, 55,11 (d) 42, 23, 89, 23

A word is represented by only one set of numbers as given

in any one of the alternatives. The set of numbers given in the
alternatives are represented by two classes of alphabets as
shown in the given two matrices. The columns and rows of
Matrix-I are numbered from 0 to 4 and that of Matrix-II are
numbered from 5 to 9. A letter of these matrices can be
represented first by its row and second by its column. For
example-S can be represented by 21,43 etc. And O can be
represented by 65,88 etc. Similarly, you have to identify the set
for the word “SPEAK”.

Matrix-I Matrix-II

0(1(2[3|4 516171819
O|T|C|E|P|S 5/RIO/AIKI|B
1|S|/E|P|I |C 6l0lAIKIBIR
2|E|{S|I |C|P 7IAIKIBIRI|O
3|C|P|S|E]|I 8/ KIBIR|O|A
4 P|T |C|S|E 9/BIRIO|AIK

(a) 10,12, 11, 66, 58 (b) 43, 31, 33, 89, 86
(c) 21, 40, 44, 56,99 (d) 32, 03, 20, 97, 66

)



A word is represented by only one set of numbers as given

in any one of the alternatives. The sets of numbers given in the
alternatives are represented by two classes of alphabets as in
two matrixes given below. The column and rows of matrix I are
numbered from 0 to 4 and the column and rows of matrix Il are
numbered from 5 to 9. A letter from these matrixes can be
represented first by its row and next by its column.'E' can be
represented by 23, 41 etc. and 'P' can be represented by

56,97 etc. identify the set for the word 'GREAT".

Matrix-I Matrix-1I
012|314 516171819
O|lE/R|/R|L|O 5IMIPIS ITIA
1{G|IL|E|O|R 6IPIS ITIAI|M
2/R|O|L|E|G 71T IMIAIS |P
3|LIG|O|R|E 8IS |AIMIPIT
410|E|R|G|L 9IAITIPIMIS
(a) 10, 14, 00,59,97 (b) 31, 33,41,67,76
(c) 43,01, 23,95,89 (d) 24,42,11, 86,95

A word is represented by only one set of numbers as given

in any one of the alternatives. The sets of numbers given in the
alternatives are represented by two classes of alphabets as in
two matrixes given below. The column and rows of matrix I are
numbered from 0 to 4 and the column and rows of matrix Il are
numbered from 5 to 9. A letter from these matrixes can be
represented first by its row and next by its columns 'P' can be
represented by 12, 43,etc. and 'O’ can be represented

by 67, 88 etc. Similarly, you have to identify the set for the word
“STROM”.

Matrix-I Matrix-II

012|314 51617 1819
O/PIQ/R|S|T 5/|N|O|[M|L |K
1|S|T/P|Q|R 6/L|K|O|M|N
2/Q/R|S|T|P 7/0|L [N |K|M
3ITIPIQIR|S 8/M|N|K|O|L
4/ RIS|T|P|Q 9|K|M|L [N|O




(a) 10, 04, 33,57, 69 (b) 41, 42, 14, 68, 86
(c) 34,23, 40, 88,78 (d) 22, 11, 21, 75, 96

A word is represented by only one set of numbers as given

in any one of the alternatives. The set of numbers given in the
alternatives are represented by two classes of alphabets as
shown in the given two matrices. The columns and rows of
Matrix-I are numbered from 0 to 4 and that of Matrix-II are
numbered from 5 to 9. A letter of these matrices can be
represented first by its row and second by its column. For
example-K can be represented by 42,34 etc. And Z can be
represented by 96,79 etc. Similarly, you have to identify the set
for the word “ROAD”.

Matrix-I Matrix-II
0123 |4 516171819
O/L |[K|A|F|H 5/|Q|S|R|U|Z
1K |I|I|C|D 6ISIRIO|VIT
2| J |EJE|E|F 7/0|U|V|S|Z
3/M|I |A|E K 8IVIYITIYIS
4/ MB|K|C|G 9/Y|ZlolUul|lV

(a) 24,14,67,76 (b) 30,22,86,56
(c) 66,67,02,14 (d) 13,43,56,86



A word is represented by only one set of numbers as given

in any one of the alternatives. The set of numbers given in the
alternatives are represented by two classes of alphabets as
shown in the given two matrices. The columns and rows of
Matrix-I are numbered from 0 to 4 and that of Matrix-II are
numbered from 5 to 9. A letter of these matrices can be
represented first by its row and second by its column. For
example-Q can be represented by 10,34 etc. And B can be

represented by 86,79 etc. Similarly, you have to identify the set
for

Matrix-I Matrix-II

01,234 5/6|171819
O|PIRIT|Q]|S 5/B|K|D|A|]
1/Q|S|P|R|T 6/A|]|B|K|D
2/RIT|Q|S|P 7/K|/D|A|] |B
3|T|IQ|S|P|R 8/] |IB|K|D|A
4|T|QJS|P|R 9/D|A|] |B|K

(a) 42, 03, 89, 13 (b) 11, 40, 65, 02
(c) 04,32, 96, 32 (d) 42,02,77,01

A word is represented by only one set of numbers as given

in any one of the alternatives. The set of numbers given in the
alternatives are represented by two classes of alphabets as
shown in the given two matrices. The columns and rows of
Matrix-I are numbered from 0 to 4 and that of Matrix-II are
numbered from 5 to 9. A letter of these matrices can be
represented first by its row and second by its column. For
example-P can be represented by 11,23 etc. And K can be
represented by 65,89 etc. Similarly, you have to identify the set
for the word “TAKE”.

Matrix-I Matrix-II

0(1(2(3]4 516171819
O/JA|N|S|T|P S5IRIEIP|KI|O
1/ T|{P|A|N|S 6 KIOIRIE!|P
2IN|S|T|P|A 7ZIEIPIKIO|R
3/P|A|N|S|T 8IO|/RIEI|PI|K
4|S|T|P|A|N 9/PIK|IO|RI|E




(a) 10,32,66,56 (b) 41,00,89,75
(c) 03,4378,99 (d) 22,13,97,87

A word is represented by only one set of numbers as given

in any one of the alternatives. The set of numbers given in the
alternatives are represented by two classes of alphabets as
shown in the given two matrices. The columns and rows of
Matrix-I are numbered from 0 to 4 and that of Matrix-II are
numbered from 5 to 9. A letter of these matrices can be
represented first by its row and second by its column. For
example-K can be represented by 20,34 etc. And Z can be
represented by 67,88 etc. Similarly, you have to identify the set
for the word “PURE".

Matrix-I Matrix-II
0112 |3 |4 516171819
O/G|/K|D |D|G 5/0/TIVIUIR
1/A|] |F |E]] 6/Q|U|Z|Y|T
2/ K|F|/H|F|A 7/V|Y|X|Q|N
3/1D|G|M|C K 8IYIRIXI|ZI|P
4|C|L|H|J |B 9N|U|Y|U|O

(a) 89,96,86,13 (b) 34,34,56,79
(c) 41,44,67,96 (d) 01,10,79,57



A word is represented by only one set of numbers as given

in any one of the alternatives. The set of numbers given in the
alternatives are represented by two classes of alphabets as
shown in the given two matrices. The columns and rows of
Matrix-I are numbered from 0 to 4 and that of Matrix-II are
numbered from 5 to 9. A letter of these matrices can be
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www.onlinesetpractice.com Page 7 of 13

represented first by its row and second by its column. For
example ‘K’ can be represented by 42, 34 etc. And ‘Z’ can be
represented by 75, 86 etc. Similarly, you have to identify the set
for the word “RUBY”.

Matrix-I Matrix-II

0|1 2|3 |4 516|171819
0/J | M D|C|E 5|W|U|N|P|S
1/C|H|K|M]|I 6 WISIRI|ZI|W
2/A|D|F|H|L 717 IS1O0|S|Y
3|E|{G|A|E |K 8IXIZISIYIR
4 /B|C |[K|C |G 9/o0 |ulsl|ulu

(a) 42,31,76,68 (b) 00,20,57,88
(c) 30,12,66,67 (d) 67,56,40,88

A word is represented by only one set of numbers as given

in any one of the alternatives. The sets of numbers given in the
alternatives are represented by two classes of alphabets as in
two matrixes given below. The column and rows of matrix I are
numbered from 0 to 4 and the column and rows of matrix Il are
numbered from 5 to 9. A letter from these matrixes can be
represented first by its row and next by its column.'K' can be
represented by 42, 34,etc. and 'Z' can be represented by 87,
78,etc. identify the set for the word 'REAL'".

Matrix-I Matrix-II

0|1(2|3 |4 5016|7189
O/H/HD|J|L 5/Y |Y|V]|R]|S
1/E|J [C|A|L 6/U |R|R|Z|U
2|/D|H|E |K|I 7IWIPINIZIS
3|C|/A|A|E K 8IRIPIZIYI|Y
4 ' B|/D|K|C|G 9/P ISINIRI|V




(a) 21,10,85,96 (b) 85,10,31,04
(c) 14,02,58,88 (d) 20,20,77,56

A word is represented by only one set of numbers as given

in any one of the alternatives. The set of numbers given in the
alternatives are represented by two classes of alphabets as
shown in the given two matrices. The columns and rows of
Matrix-I are numbered from 0 to 4 and that of Matrix-II are
numbered from 5 to 9. A letter of these matrices can be
represented first by its row and second by its column. For
example ‘K’ can be represented by 20,32 etc. And ‘Z’ can be
represented by 75, 78 etc. Similarly, you have to identify the set
for the word “SHOW”.

Matrix-I Matrix-1I

0112134 51617 |89
0/C|] [A|B|A 5/|R|Z|R |T|P
1/{H|L |H|I |G 61SISIS ITIX
2|KIM|F |] |C 7/Z|S|V |Z|Y
3|1 |[B|K|D|F 8/Q|Y|O |S|T
4 F|I  MHJ] 9|U|V|WI|S|S

(a) 21,23,78,98 (b) 76,12,87,97
(c) 40,32,76,79 (d) 33,23,57,88



A word is represented by only one set of numbers as given

in any one of the alternatives. The sets of numbers given in the
alternatives are represented by two classes of alphabets as in
two matrixes given below. The column and rows of matrix I are
numbered from 0 to 4 and the column and rows of matrix Il are
numbered from 5 to 9. A letter from these matrixes can be
represented first by its row and next by its column.'K' can be
represented by 42, 34,etc. and 'Z' can be represented by 76,
59,etc. identify the set for the word ' SELF .

Matrix-I Matrix-1I
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(a) 95,23,24,41 (b) 44,43,87,95
(c) 04,31,85,58 (d) 24,04,66,77

A word is represented by only one set of numbers as given

in any one of the alternatives. The set of numbers given in the
alternatives are represented by two classes of alphabets as
shown in the given two matrices. The columns and rows of
Matrix-I are numbered from 0 to 4 and that of Matrix-II are
numbered from 5 to 9. A letter of these matrices can be
represented first by its row and second by its column. For
example-Z can be represented by 87,99 etc. And T can be
represented by 69,95 etc. Similarly, you have to identify the set
for the word “MAZE”.

Matrix-I Matrix-II

0|1 1]2 |3 |4 516171819
O|M|O|G|A |C 5/]J]|Z|T|E|U
1/A|C | M|O |G 6|E|U|] |Z|T
2/0/G|/A|C|M 7/Z|T|E|U|]
3/]C|M|O|G|A 8|U|J |Z|T|E
41G|/A|C|M|O 9|T|E|U|] |Z




(a) 00, 41,99, 96 (b) 12, 04, 56, 58
(c) 24,22, 88, 65 (d) 43, 10, 69, 77

A word is represented by only one set of numbers as given

in any one of the alternatives. The set of numbers given in the
alternatives are represented by two classes of alphabets as
shown in the given two matrices. The columns and rows of
Matrix-I are numbered from 0 to 4 and that of Matrix-II are
numbered from 5 to 9. A letter of these matrices can be
represented first by its row and second by its column. For
example-E can be represented by 21,44 etc. And T can be
represented by 65,87 etc. Similarly, you have to identify the set
for the word “FATE".

Matrix-I Matrix-II

0|1|2[|3|4 516171819
O|A|{U|O|E|I S5IBIFIKINIT
1/E|I |[A|U|O 6 TIBIFI|KIN
2/0/E|I |[A|U 7INITIBIF I|K
3IU|OJE|T |A 8IKINITIBIF
4|1 |[A|U|O|E 9/F|KINITIB

(a) 56, 00, 87, 11 (b) 96, 41, 59, 44
(c) 88,12, 76, 33 (d) 78, 34, 98, 21

A word is represented by only one set of numbers as given

in any one of the alternatives. The sets of numbers given in the
alternatives are represented by two classes of alphabets as in
two matrixes given below. The column and rows of matrix I are
numbered from 0 to 4 and the column and rows of matrix I are
numbered from 5 to 9. A letter from these matrixes can be
represented first by its row and next by its column.'K' can be
represented by 42, 34,etc. and 'Z' can be represented by 97, 69,
etc. identify the set for the word ' ROPE .

Matrix-I Matrix-II

01|12 3|4 51617 |8 |9
O/F|F|I |[H|E 5/ VIYIWIWIT
1 H|G|B |K|E 6 TIXIN IR |Z
2/E|D/M|I |H 7IU0UlUlU |T | X
3|B|/A|A |E K 8IRIXIXIPI|O
4] IK[K|C]G 9|V|Z|Z |Y |N




(a) 10,24,56,69 (b) 03,02,58,79
(c) 85,89,88,20 (d) 04,32,97,65

A word is represented by only one set of numbers as given

in any one of the alternatives. The set of numbers given in the
alternatives are represented by two classes of alphabets as
shown in the given two matrices. The columns and rows of
Matrix-I are numbered from 0 to 4 and that of Matrix-II are
numbered from 5 to 9. A letter of these matrices can be
represented first by its row and second by its column. For
example ‘K’ can be represented by 42, 34 etc. And ‘Z’ can be
represented by 76, 88 etc. Similarly, you have to identify the set
for the word “RIDE”.

Matrix-I Matrix-II

0(1,2|3 |4 516171819
O|G|K/HAM 5/Ul0lY|VI]IO
1/ D|C|F|E|G 6| T|IV|Q|O|T
2] |G|L|D]|] 7/V|Z|P|S|W
3|1 |H|A|E K 8I0|/YIPI|ZIR
4/ B|C|K|C|G 9/0|VIVIVIZ

(a) 30,23,85,66 (b) 89,30,10,13
(c) 10,24,68,78 (d) 10,11,88,86



A word is represented by only one set of numbers as given

in any one of the alternatives. The set of numbers given in the
alternatives are represented by two classes of alphabets as
shown in the given two matrices. The columns and rows of
Matrix-I are numbered from 0 to 4 and that of Matrix-II are
numbered from 5 to 9. A letter of these matrices can be
represented first by its row and second by its column. For
example ‘K’ can be represented by 13,34 etc. And ‘Z’ can be
represented by 85,79 etc. Similarly, you have to identify the set
for the word “PLOT”.

Matrix-I Matrix-II
0|12 |3 |4 516 |71819
0/J [B|B|I |A 5/0|U|O0|P|U
1/A|G|F |[K|L 6/lP IX |IUINIY
2/H|E|F |G |C 7IWIWINIRI|Z
3/T |/A|{M|A|K 8!Z INITIS|Y
4] |[F|C|B|M 9|U |[W|U|U|X

(a) 58,14,57,87 (b) 44,04,76,86
(c) 03,23,86,69 (d) 23,04,99,99

A word is represented by only one set of numbers as given

in any one of the alternatives. The sets of numbers given in the
alternatives are represented by two classes of alphabets as in
two matrixes given below. The column and rows of matrix I are
numbered from 0 to 4 and the column and rows of matrix I are
numbered from 5 to 9. A letter from these matrixes can be
represented first by its row and next by its columns 'Y' can be
represented by 55,87, etc. and 'Z' can be represented by 14,01,
etc. Similarly, you have to identify the set for the word “VERY"'.

Matrix-I Matrix-II

0 |12 |3 |4 56171819
O|W|Z|G |T|D S5IYINILITIY
1/S |[RIW|G|Z 6| H|T |[P|] |I
2|/X |F|S |D|E 7IBIKIOINI|O
3|Q |V|C |S|F 8/U/M|Y|B|P
4/A|TIQ QA 9/] |O|H|L |K




(a) 01,43,21,78 (b) 31,24,11,87
(c) 11,20,66,85 (d) 88,56,43,20

A word is represented by only one set of numbers as given

in any one of the alternatives. The set of numbers given in the
alternatives are represented by two classes of alphabets as
shown in the given two matrices. The columns and rows of
Matrix-I are numbered from 0 to 4 and that of Matrix-II are
numbered from 5 to 9. A letter of these matrices can be
represented first by its row and second by its column. For
example ‘K’ can be represented by 41,34 etc. And ‘Z’ can be
represented by 75, 86 etc. Similarly, you have to identify the set
for the word “PAWN”.

Matrix-I Matrix-II
01|23 |4 51617 1819
O|L|/E|D|E |A 5|R|Z|Q |R|N
1/H|J |[C|M]|] 6/ Y|U|Y |T]|O
2/B|L|I |A|I 71ZIRIWITIS
3/IL|E|B|H K 8IXIZ!0 |LI|Z
4| F |K[G|D|] 9/U|0]Y |O]|P

(a) 44,10,87,55 (b) 99,23,77,59
(c) 03,40,86,65 (d) 31,31,59,66



A word is represented by only one set of numbers as given

in any one of the alternatives. The sets of numbers given in the
alternatives are represented by two classes of alphabets as in
two matrixes given below. The column and rows of matrix I are
numbered from 0 to 4 and the column and rows of matrix Il are
numbered from 5 to 9. A letter from these matrixes can be
represented first by its row and next by its columns 'K' can be
represented by 01,34, etc. and 'P' can be represented by 65,99
etc. Similarly, you have to identify the set for the word “BLAND”.

Matrix-I Matrix-II
0|1(2|3|4 516171819
O/A|K|B|L|C S5INIOIPIS ID
1 B/A|C|K|L 6IlPIDISINI|O
2|L|C|K|B|A 7I0/PINIDIS
31C|B|L|A|K 8IDISIO|/PIN
4|/K|L|A|C|B 9/SINIDIO|P

(a) 10, 14, 00, 68, 79 (b) 31, 41, 33, 96, 86
(c) 44, 20, 42, 88, 59 (d) 23, 32, 24, 55, 66

A word is represented by only one set of numbers as given

in any one of the alternatives. The sets of numbers given in the
alternatives are represented by two classes of alphabets as in
two matrixes given below. The column and rows of matrix I are
numbered from 0 to 4 and the column and rows of matrix I are
numbered from 5 to 9. A letter from these matrixes can be
represented first by its row and next by its columns 'C' can be
represented by 10,34, etc. and 'D' can be represented by 85,98,
etc. identify the set for the word ' STEAL'

Matrix-I Matrix-II
012|334 5/6|171819
O|T|{S|C|K|E S5/IPIDIAITI |L
1/ C/K|E|T]|S 6ILITIDIAIP
2/K|E|S|C|T 711 IAILIPID
3|S|T|KJ|E]|C 8IDIPII |LIA
4 E|C|T|S |K 9/AILIPIDII




(a) 01, 13, 04, 76, 66 (b) 14, 31, 40, 95, 59
(c) 22,42, 21, 69,97 (d) 43, 24, 33,57, 58

A word is represented by only one set of numbers as given

in any one of the alternatives. The sets of numbers given in the
alternatives are represented by two classes of alphabets as in
two matrixes given below. The column and rows of matrix I are
numbered from 0 to 4 and the column and rows of matrix I are
numbered from 5 to 9. A letter from these matrixes can be
represented first by its row and next by its column.'K' can be
represented by 42, 33,etc. and 'Z' can be represented by 56,
67,etc. identify the set for the word 'NOTE".

Matrix-I Matrix-II
0(112 |3 |4 516/71819
O|]C|K|K|M|H 5|V |Z|Q|U|W
1Al |B|M|G 6lY |SIZIS|W
2/D|J |[E|D|L 7/T |[X|V|O|R
3ILIH/M|K|I 8|WI|X|Q|T|X
4|F|C|K|L |] 9|Y |S|S|T|N

(a) 04,30, 85,66 (b) 20,40,75,69
(c) 40,21,69,55 (d) 99,78,75,22



A word is represented by only one set of numbers as given

in any one of the alternatives. The set of numbers given in the
alternatives are represented by two classes of alphabets as
shown in the given two matrices. The columns and rows of
Matrix-I are numbered from 0 to 4 and that of Matrix-II are
numbered from 5 to 9. A letter of these matrices can be
represented first by its row and second by its column. For
example ‘K’ can be represented by 30,41 etc. And ‘Z’ can be
represented by 77, 68 etc. Similarly, you have to identify the set
for the word “NEST”.

Matrix-I Matrix-II
0(12|3 |4 516171819
O/D|K|D|A |K 51S |UIS|Y!|X
1|1 |C|E|F |D 6/0 |P|N|Z|Q
2IHM|G|M|F 7S ITIZITIS
31 K|{C|G|C B 8IWIRIYI|IR|W
4|G|K[AJA]|] 9/R |[R|O|U|R

(a) 67,12,75,78 (b) 12,14,58,75
(c) 44,41,55,78 (d) 44,31,79,76

A word is represented by only one set of numbers as given

in any one of the alternatives. The sets of numbers given in the
alternatives are represented by two classes of alphabets as
shown in the given two matrices. The columns and rows of
Matrix-I are numbered from 0 to 4 and that of Matrix-II are
numbered from 5 to 9. A letter from these matrices can be
represented first by its row and next by its column, for example
'K' can be represented by 41, 34 etc and 'Z' can be represented
by 66, 57 etc. Similarly, you have to identify the set for the word

Matrix-I Matrix-II

012 |3 |4 516|171819
O K|B|M|M|I 5/Q |0|Z|V|P
1/J/B|C|L |G 6|U |Z|X|X|R
2/A|L|F |L |E 7IRIPIZIZIP
3/H|] [D|E [K 8/U|0|Z|Z|P
4|] |[K|E |G |M 9|W|U|X|S|R




(a) 34,33,55,59 (b) 14,44,69,66
(c) 56,76,20,21 (d) 01,40,76,89

A word is represented by only one set of numbers as given

in any one of the alternatives. The set of numbers given in the
alternatives are represented by two classes of alphabets as
shown in the given two matrices. The columns and rows of
Matrix-I are numbered from 0 to 4 and that of Matrix-II are
numbered from 5 to 9. A letter of these matrices can be
represented first by its row and second by its column. For
example ‘K’ can be represented by 22,43 etc. And ‘Z’ can be
represented by 65,77 etc. Similarly, you have to identify the set
for the word “CUBE".

Matrix-I Matrix-II

01|12 (3|4 51617 |8 |9
01J [CIE|] [] 5/T|V|V |R|P
1{A/B|H|I |G 6/ZIRIP |WIR
2/H|I |K|B]|L 7IYITIZ |P |P
3|1 |D|G|D|H 8|T|Q|W|R |X
4|1C|A|M|K|I 9|/U|S|S |Y |Q

(a) 23,12,4 4,77 (b) 22,76,03,04
(c) 11,34,20,10 (d) 40,95,11,02



A word is represented by only one set of numbers as given

in any one of the alternatives. The sets of numbers given in the
alternatives are represented by two classes of alphabets as
shown in the given two matrices. The columns and rows of
Matrix-I are numbered from 0 to 4 and that of Matrix-II are
numbered from 5 to 9. A letter from these matrices can be
represented first by its row and next by its column, for example
'K' can be represented by 43, 04 etc and 'Z' can be represented

by 75, 66 etc. Similarly, you have to identify the set for the word
'VERY".

Matrix-I Matrix-II

0 (1|2 |3]|4 516 171819
O/W|Z|G |T|D S5IYINILIIT Y
1|S|RIW|G|Z 6| H|IT |[P|] |I
2|/X |F|S |D|E 7IBIKIOINI|O
3/]Q |V |C |S|F 8|U|M|Y|B]|P
4/AJTIQJQJA 9/] |lO|H|L|K

(a) 01,43,21,78 (b) 31,24,11,87
(c) 11,20,66,85 (d) 88,56,43,20

A word is represented by only one set of numbers as given

in any one of the alternatives. The sets of numbers given in the
alternatives are represented by two classes of alphabets as
shown in the given two matrices. The columns and rows of
Matrix-I are numbered from 0 to 4 and that of Matrix-II are
numbered from 5 to 9. A letter from these matrices can be
represented first by its row and next by its column, for example
'K' can be represented by 41, 34 etc and 'Z' can be represented

by 66, 57 etc. Similarly, you have to identify the set for the word
'PINK".

Matrix-I Matrix-1I

011121314 516171819
O/J |B/H|DH 5|U|O|U|IN|P
1/G E|G|C|K 6ISIVIXIRI|O
2 M|C|A|B|L 7IPIVIOIZI|Y
3IKIDJJ T |G 8|Z|N|X|U|X
4|1C |D/H|F|M 9|TIYIXITI|O




(a) 43,03,78,88 (b) 59,33,86,14
(c) 00,11,79,98 (d) 11,14,85,76

A word is represented by only one set of numbers as given

in any one of the alternatives. The sets of numbers given in the

alternatives are represented by two classes of alphabets as

shown in the given two matrices. The cloums and rows of MatrixI are numbered
from 0 to 4 and that of Matrix-II are numbered

from 5 to 9. A letter from these matrices can be represented first

by its row and next by its column, for example, ‘K’ can be

represented by 10, 22, etc., and ‘Z’ can be represented by 85, 58,

etc. Similarly, you have to identify the set for the word “PERK”.

Matrix-I Matrix-II

01|23 |4 516 |71819
0| F|G|] |[E|A 5/X|W|R|Z|T
1 K|J AL ]I 6/0/Q |U|T|N
2/D|D|K|H|C 7IXI0|TIVIO
3/B|A|I |G]|L 817Z1S INIO|V
4 M|E|]J [L|D 9|P|Y |O|T|Y

(a) 13,02,6 6,68 (b) 95,41,57,22
(c) 32,02,87,56 (d) 30,04,75,96
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